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HISTORY

Paper III

Time Allowed : 2;1)— Hours] [Maximum Marks : 150

Note

T.B..

:— This paper contains Seventy five (75) multiple choice questions, each ques-

tion carries two (2) marks. Attempt All of them.
What is not true of the following ?
(A) The Harappan life is known from its objects
(B) The Harappan sites. are widespre;ad in the Indian sub-continent
(C) The sedentary life helped the man to start agriculture
(D) The Harappans used the bronze metal
What were the Megaliths ?
(A) The site of a temple (B) The site of a house

(C) The site of burials (D) None of these

Which Vedic god resembles the Zoroastrian god Ahur Mazda ?

(A) Rudra (B) Varuna
(C) Indra (D) Usha
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I.B.C.

Where does Ashoka refer to himself as the king of Magadha ?

(A)

(B)

(C)

(D)

The Bhabru Edict
The Kandhar Inscription
The Minor Rock Edict at Maski

The Sarnath Edict

Consider the following statements :

(1)

(2)

(3)

(4)

The Municipal Administration of Pataliputra was divided into

six Boards

Ashoka served as governor before becoming the king

The Barter system stopped after the introduction of the metallic

currency

Chandragupta Maurya is stated to have become a Jain late in his

life

Which of the above statements are wrong ?

(A) (1) and (2)

(B) (1), (2) and (3)

(C) (2), (1) and (4)

(D) (1) and (4)
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(A)

(1) 3R (2)

(B) (1), (2) 3R (3)

(C)  (2), 1) #R (4)

D) (1) 3R 4)
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6. Who started the practice of appointing two governors in the same

province ?

(A) The Mauryas (B) The Kushanas

(C) The Guptas (D) The Satavahanas
7. What of the following is not true of ‘the Sangam literature ?

(A) It was not written at one time.

(B) The towns of Kanchi and Madurai are mentioned in it
(C) The lunar and solar ruling families are mentioned

(D) The dates of the works are given in the beginning

8. What of the following is not a part of the Khuddakanikaya ?

(A) The Suttanipata (B) The Dhammapada

(C) The Jatakas (D) The Dighanikaya
9. Which was the earliest Saiva sect ?

(A) Pashupata (B) Lingayats

(C) Kashmir Saivism (D) Kapalika

T.B.C. : 45/13/ET—III 6
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10. Who introduced the Indian culture in Cambodia ?
(A) Kaundinya . (B) Samudragupta
(C) Harsha (D) Bhoja
11.  Which part of North India does not yield any land-grant ?
(A) Uttar Pradesh (B) Punjab Plains
(C') Himachal Pradesh (D) Bengal
12. The rgference to Krishna and his mother Devaki occurs in which
inscription ?
(A) Junagadh Rock Inscription of Rudradaman I
(B) Allahabad Pillar Inscription of Samudragupta
(C) Udaigiri Cave Inscription of Chandragupta II
(D) Bhitari Pillar Inscription of Skandagupta
13. Which Ajanta cave has the painting of the dying princess ?
(A) Cave No. XV (B) Cave No. XVI
(C) Cave No. XVII - (D) Cave No. XVIII

T.B.C. : 45/13/ET—III 8
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14. Which of the following does not support the paradigm of Urban Decay ?
(A) Decline of foreign trade
(B) Self-sufficient economy
(C) The evidence of archt;eology
(D) The description of Kalidasa

15. The Chinese Pilgrim who exchanged the letters with his Indian friends even

after his return to China, was :
(A) Fa-hsien (B) Hsuan-Tsang
(C) Sung-yun (D) Itsing

16. The term ‘Jalakara’ occurs in the inscriptions of which of the following

dynasties ?

(A) The Maukharis and the Later Guptas
(B) The Pallavas and the Satavahanas
(C) The Gahadwalas

(D) The Maitrakas

T.B.C. : 45/13/ET—III 10
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17. How were the imported coins used ?
(A) As a bullion (B) For circulation
(C) For exchange (D) None of these

18. Match List I with List II and select the correct answer from the codes given

below the lists :
List 1 List 11
(Temple) (Place)

(@) Kandariya Mahadev Temple (1) Mt. Abu

(b) Lingarajé Temple (2) Khajuraho

(¢) Sun Temple (3) Bhubaneshvara
(d) Jain Temple’s Pillar (4) Konark

Codes :

@ B (@ @

@a @ 6 @ @

B @@ @G @ @

©c 3 @ @ @

M @ @ QO @)

T.B.C. : 45/13/ET—III 12
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19.  Match List I with List II and select the correct answer from the codes given

below the lists :

List I List II
(Authors) (Works)
(@) Bana ‘ (1) Nitisara
(b) Bhaskaracharya (2) Lilavati
(¢) Kamandaka (3) Chandishataka
{d) Nagarjuna (4) Prajna-Paramita Sutra
Codes :

@ @ @© (@
A () (2 @ (3)
(B) (2 3 1)
C 3 @ @O @
D) @) 3) ML (2

20.  Mammata (about the 11th century) writer says that a king got written a book

from a poet for money. Who was the king ?
(A) Harsha (B) Bhoja

(C) Yashovarman (D) Mahendravarman 1

T.B.C. : 45/13/ET—III 14
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21.

22.

m D

n

Which of the following is correct about the Gandhara Art ?
(A) the massive drapery of the Buddha

(B) long ear-lobes of the Buddha

(C) the Bodhisattva showg with moustaches

(D) All of the above

What was bhukti in the Gupta administration ?

(A) a district (B) a province

(C) a capital city (D) a unit of 50 villages

Given below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R) :
Assertion (A) : The Harappans had excellent drainage system

Reason (R) : This indicates some efficient municipal authority of the

Harappans.

In the context of the above two statements, which one of the following is

correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) i1s true

. AR O/TM ITT 14
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25.

Given below are two statements, one labelled as Assertion-(A) and the other

labelled as Reason (R) :

Assertion (A) : The Kushana coins depict the deities of many religions on

them.
Reason (R) : They were very liberal in their religious beliefs.

In the context of the above two statements, which one of the following

is correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is fa;lse but (R) is true

Given below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R) :

Assertion (A) : Harsha donated almost everything in the Quinquennial

Assembly at Prayaga.
Reason (R) : He managed the finances of his kingdom very efficiently.

In the context of the above two statements which one of the following is

correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is nqt the correct éxplanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

T.B.C. : 45/13/ET—III 18
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'26.  Which among the following gurus introduced the Gurmukhi script for the

spoken language of the Punjabis ?
(A) Guru Nanak (B) Guru Angad
(C) Guru Amardas ' (D) Guru Ramdas

27. What was the descending order of the ranks of the Nobility under the Sultans

of Delhi ? Select the correct answer from the codes given below :

(@) Khan
(b) Malik
(¢) Amir

(d) Sar-i-Khail

Codes :

(A) (@ B ) (e

B) @ @B @ @@

(C) (a) (d) (e) (b)

D) (@ () () (b
T.B.C. : 45/13/ET—III 20
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28. Who founded the fortress city of Mandu, the capital of Malwa ?
(A) Ahmad Shah (B) Hausang Shah
(C) Muzzaffar Shah = (D) Bahadur Shah
29. Taj Mahal was designed by :
(A) Ustad Mansur (B) Ustad Isa
(C) Ustad Samser ' (D) Ustad Rahman

30. A persian scholar who accompanied Alauddin Khalji on, his expedition to

Chittor was :

(A) Shams-i-Siraj Afif (B) Ziauddin Barani

(C) Amir Khusrau (D) Minhas-us-Siraj
31. Emperor Jahangir was known as :

(A) Ahal-i-Kitab (B) Adal-i-Sahanshah

(C) Mughal-i-Azam (D) Azim-us-Saan Sahanshah

T.B.C. : 45/13/ET—III 22
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32. Quwwat-ul-Islam mosque of Delhi was originally a .....cccccevvnvivnnnennee. ;

(A) Jain Temple

(B)

(C) Temple dedicated to éhiva

(D) Temple dedicated to Saraswati

Chauhan temple dedicated to Vishnu

33,  Match List I with List II and select the answer from the codes given below :

(@)

(b)

(c)

(d)

Codes :

(A)

(B)

(C)

(D)

T.B.C. : 45/13/ET—III

List 1

Raja Sansar Chand

Raja Ram Das Kachhawaha

Mota Raja Udai Singh

Raja Bhuri Singh

(@)

(2)

(1)

(4)

(1)

(b)

(4)

(3)

(1)

(3)

e)

(3)

(4)

(3)

(2)

(d)

(1)

(2)

(2)

(4)

24

(1)

(2)

(3)

(4)

List II
Jaipur

Chamba
Jodhpur

Kangra
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34. Before the coming of the Muslim rulers, Kasmir was known to be a centre

of :

(A) Buddhism

(C) Jainism

(B) Vaishnavism

(D) Shaivism

35. Match List I with List IT and select the correct answer from the codes given

below :

List 1

(a) Amir Khusrau

(b) Hasan Nizami

(¢) Babur

(d) Gul Badam Begum

Codes :

(@)

A) @)

(B) 3)

) @

(D) (2

T.B.C. : 45/13/ET—III

(b)
@
(1)
(2)

(1)

(c)

(1)

(4)

(3)

(3)

(d)

3)

(2)

(4)

(4)
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(1)

(2)

(3)

(4)

List II
Taj-ul-Maasir
Humayunnama
Tughlugnama

Baburnama

oy
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(1)
(2)

(1)
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36. What was the term ‘Jizyah’ ?

(A)

(B)

(C)

(D)

A commercial tax

A tax for protection and to save from invaders

A religious tax

An emergency tax

37. Name the Fersian version of the Mahabharata Classic, translated during

Akbar’s reign :

(A)

(C)

Kalil-i-Damni (B) Sakinat-ul-Auliya

Zafarnama (D) Razmnama

38.  Name the two historians of Sultanate period, whose works had the same title

e.g. Tarikh-i-Firuzshahi :

(A)

(B)

(C)

(D)

Ziauddin Barani and Amir Khusrau

Amir Khusrau and Shams-i-Siraj Afif

Shams-i-Siraj Afif and Ziauddin Barani

Ziauddin Barani and Minhaj-us-Siraj

T.B.C. : 45/13/ET—III 28
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- 39. Akbar constructed the fort of .....cc.ocoevvviviniirnncrnnnens ;
(A) Purana Qila Delhi (B) The Fort of Allahabad
(C) The Fort of Kangra (D) The Fort of Chittor

40. The reign of eight Delhi Sultans was witnessed by famous

MIStOTIaNY s s A
(A) Ziauddin Barani (B) Amir Khusrau
(C) Nizamuddin Ahmad (D) Abul Fazl

41. The Ahoms Dynasty of Assam was formed by a section of the .......c.cccccceeeen o

tribe.
(A) Bhuiya (B) Barfukan

(C) Barpujari (D) Shan
42. The Second Battle of Panipat was fought between :
(A) Akbar and Hemu
(B) Jahangir and Mahavat Khan
(C) Shah Jahan and Khusrau

(D) Aurangzeb and Mir Jumla
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- 39.

40.

41.

42.

(C) mmﬁm (@) fdre W e

mﬁ.ﬁmmm%ﬁﬁﬁwﬁ%WMWm

@ 91 ?

(A) ﬁwaﬂwatﬁ . - (B) IR g

© FogEaeR (D) vEe T
e R SR Ay o W W T e g
‘WWI ‘

(A) A | (B) aXHFA

(C) =Y | (D) wH

T @ fdfE gw TR @ e e gen ?
(A) mqﬁ%ﬂﬁm

(B) MR Td Helsd @F % HeA

(C) vmesel Td gEI & THA

(D) SOSE @ HR SEAT & "
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43.  Who was the founder of Peshwas Dynasty ?
(A) Balaji Baji Rao
(B) Balaji Vishvanath
(C) Baji Rao First-the GreaF Peshwa
(D) Nana Saheb Peshwa

44.  Mahabharata and Ramayana were first translated in Persian Language

QUrING: s :
(A) Sultanate Period (B) Mughal Era
(C) Sultans of Deccans (D) Sultans of Kashmir

45.  Which of the contemporary travellers was appointed as the Chief Qazi of

Delhi by Muhammad-bin-Tughlaq ?

(A) Hasan Nizami

(B) Minhaj-us-Siraj-al-Jujyani

(C) Al-Beruni

(D) Ibn Batutah
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43. mémwﬁwmmﬁthy
(A) TS ST
(B) drersit faga iy
(C) weE JUH—HgH e
(D) AT Gee 9yE
a4 Wmﬁ@wmﬁ'ﬂmwﬁumwm@ﬁ@?
(A) Headd @ H | (B) e % i
(©) = & g & e D) el 3 g $ e

45. mﬁﬁmm@w-m-wﬁmmg@mﬁgﬁ

feam ar ?

(A) ze famd

(B) ﬁw—w-mlm-w
(C) FA-aAl

D) T A
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46. Who was the author of the famous classic Padmavat ?
(A) Malik Muhammad Jaisi (B) Amir Khusrau Dehlvi
(C) - Yahya-bin-Ahmad Sirhindi (D) Ziauddin Barani
47. The author of Khazain-ul-Futuh is :
(A) Zia Barani . (B) Amir Khusrau
(C)A Isami (D) Minhaj-us-Siraj
48. Who was the author of “History of the Khaljis” ?
(A) Kishori Saran Lal
(B) Ashirwadi Lal Srivastava
(C) Banarasi Prasad Saxena
~ (D) Ishvari Prasad
49. Tulsidas of Ramayan fame was a contemporary of .........ccccovvviivnennnnns .
(A) Akbar (B) Shah Jahan

(C) Aurangzeb (D) Bahadur Shah
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46. gmmaaﬂ(%)m‘mm’mtwm’aﬁwm?
(&) e e ST B s T e
(C) m—ﬁw—mm (D) fE=dE s
47. EEEA-IA-HdE F AWH DH © 7 |
(A) TS = (B) TR TEA
(C) wEm " (D) ﬁ@%—m—m
48, ‘f‘s@maa—wﬁm’%-mﬁa?
(A) Tremdt RO @
(B) sefaidt @l shard
(C) wARE THE HAT
(D) ésaﬁjm
49. Wﬁuﬁqﬁgﬁmsﬁﬂmmﬁwa?
(A) FFR ' (B) wESTel

(C) S=E (D) wBIEX ¥E
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50.  “Chahalgani” group came into existence during the reign of :
(A) Qutubuddin Aibek | (B). Iltutmish
(C) Razia ; (D) Balban
51.  Which power reached India via the Cape of Good Hope to India ?
(A) Portuguese (B) Dutch
(C) French (D) English
52. In which year. was the Reserve Bank of India Act passed ?
(A) 1937 (B) 1920
(C) 1934 (D) 1947
53.  Which of the following is wrongly matched ?

(A) Poverty and Un-British Rule in India — Dadabhai Naoroji

(B) Unhappy India — B.G. Tilak
(C) Durgesh Nandini and Anand Math — Bankim Chandra Chatterjee
(D) Servants of India Society — Gopal Krishna Gokhale
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50. et T s T A RRE WEE B A | s g 2
(A) HIIEA T (B) Wﬁm
(C) s (D) e
51. mwﬁﬁmﬁﬁqm.ﬂ@‘ﬁqa‘»mwﬁ?
(A) g . (B) =¥
© w= - (D) =S
.52. Mﬁhé%msﬁmwwm.?
(A) 1937 (B) 1920
(C) 1934 -(D) 1947

53. fr=fafea § ¥ $H@ Tom gafaq © 2

A) U we sm-fafew v @ e — SRR AT
(B) aeudt sfvea — @ foem
"<C)§*ﬂﬁﬁmw | —  wfEw == st
D) TEIY AE I — T Fe e
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54. Which Act created the ‘First Official Legislature’ in India ?
(A) Charter Act, 1833
(B) Charter Act, 1853
(C) Indian Councils Act, 1861
(D) Indian Councils Act, 1892

55. Match the following members of the Maratha Confederacy with their

Territorial limits and select the correct answer from the codes given below :

() Bhonsle. ' (1) Indore
(b) Gaekwad (2) Berar
(¢) Holkar (3) Poona
(d) Scindia (4) Baroda
(e} Peshwa (5) Gwalior
Codes :

(A) (a-1), (b-2), (c-3), (d-4), (e-5)
(B) (a-3), (b-1), (c-2), (d-5), (e-4)
(C) (a-2), (b-4), (c-1), (d-5), (e-3)

D) (a-2), (b-3), (c-4), (d-5), (e-1)
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54, TH9 R & FHER ‘wuW wERl faurmusd’ @1 weue fe ?
(A) =TE TR, 1833
(B) =X W, 1853
() zfrEas Fhaa @, 1861
(D) 3fread #ifaa T, 1892

55. Frefofed e 99 3 9o 9 yefe o = gafaa i g gfed & A=
fou T w2z | FH SW H FF7 HOC |

(@) i . . (1) =R
(b) TEHATS (2) WK
(c) BIeHt (3) g
(@) fafem (4) =T
(e) TreTam (5) TafeTR
&He :

(A) (a-1), (b-2), (c-3), (d-4), (e-5)
(B) (a-3), (b-1), (c-2), (d-5), (e-4)
(C) (a'2)9 (b'4), (C'l), (d'5), (6-3)

(D) (a-2), (b-3), (c-4), (d-5), (e-1)
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57.

58.

T.B.C.

The first Anglo-Mysore war went in favour of :

(A) Hyder Al (B) The Marathas

(C) The English ' (D) The French

What was the impact of the Industrial Revolution in Britain on India ?
(A) The Indian handicrafts industry was ruined

(B) The backward Indian Ind;.lstry got a much needed fillip

(C) The employment scenario in India became much better

(D) The Indian handicrafts industry was rapidly mechanised

The first Muslim who was elected President of the Indian National

Congress, was :

(A) M.A. Jinnah

(B) Maulana Azad
(C) Badruddin Tyabji

(D) Mohammad Ali
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e e Ty
(A) T I (B) #UEi
(C) sl . (D) Wi

57. ﬁﬁaﬁﬁzﬁﬁmmﬁmmwwumm?
(A) Y@ F wfeed sEm & fam g
(B)ﬁﬁ@.wﬁﬂsﬁhﬂaﬁ@#ﬂﬁﬁeﬁ
(C) HrfeEt =1 ufigea wRa # srew 59 TN
(D) e TEfe SEm @ ast § A g

58. ummﬁmmmmawagmwm,a:
(A) wau fS=
<B>mm
(©) e s

(D) =g Al
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60.

61.

T.B.C;

Match the following and select the correct answer from the codes given

below :

(a)

(b)

(e)

Group 1
Act of 1858
Indian Councils

Govt. of India Act, 1919

(d) Govt. of India Act, 1935
Codes :
(@ (b)) @© (@
(A) 4 @1 3 (@
B) 1) @ (2 O
e @ 2 @ @
M @2 @ W 3

(1)

(2)

(3)

(4)

Group II
Morley-Minto reforms
British crown assumes power
Provincial autonomy

Dyarchy

In which year Viceroy Dufferin completed his term in India ?

(A)

(C)

1886

1888

(B) 1890

(D)

1889

English as a medium of education in India was introduced in

(A)

(C)

1813

1835

: 45/13/ET—III
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(B)

(D)

1833

1854



59. ﬁmﬁ@aﬁwmaﬁﬁ%mma@ﬂﬁmmwaﬁm:
gt 1

T HE 1858

(a)

(b)

(c)

(d)

AT hrsf-aed

TEAE= A 3fUedl T, 1919

TgAE= 3% sfves W=, 1935

e

(A)

(B)

(C)

(D)

60. fHm 99 SHENE SHA A IO HEEwE W fEA ?

(A)

(C)

61. ma # st @ foan w1 wemm w@wg feE omE o

(A)

(C)
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(4)
(1)
(1)

(2)

1886

1888

(b)

(1)

(4)

(2)

(1)

1813 #

1835 |

(e)

"(3)

(2)

(3)

(4)

(d)

(2)
(3)
(4)

(3)
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o -fa=1 gur

Trird &=l

9 YA

(D) 1889

(B) 1833 ®

(2) fafesr soE I T TR I

o 1 0



62. Lord Wellesley introduced the system of Subsidiary Alliance to :
A) improve the administration of the Indian States
(B) prevent disloyality towards the British
(C) tone-up the British-Indian administration
(D) prevent French influence in the Indian States
63. When was the Wood’s Despatch on education announced ?
(A) 1856 ' (B) 1854

(C) 1861 (D) 1853

64. Name the Viceroy who had appointed an Education Commission under

W.W. Hunter in 1882 to review the progress of education :
(A) Lord Ripon (B) Lord Curzon

(C) Lord Mayo (D) Lord Minto

65. Name William Bentinck’s successor who attempted to improve the police

administration :
(A) Lord Lee (B) Lord Minto
(C) Lord Auckland (D) Lord Lawrence

T.B.C. : 45/13/ET—III : 44



62.

63.

64.

65.

g AesEr 3 ‘werEw Hifa’ @ e R o

(A) ToFF WRAE T59 F OGEEH A gUR '

(B) fafew fadeh sfovwamm =1 A7 =g

(©) fafew-vma wEw @ R 23 B fo

(D) YT YRAE T WOwEE q9E H A ® g
foran W ‘gz fed=' wa Hifta gsn ?

(A) 1856 \ (B) 1854

(C) 1861 (D) 1853

39 FEETE F1 AW Tdgd fagd foen & fawrw w1 gHtan & fauw 1882 H
Tl e X &1 t@-t@ (Ifwan) # foen s fgw fen

(A) @ fooH (B) ©rE e
(C) =rE T (D) @ ==

fafergm s & stofusm &1 W adEd e Ifas wemes & gurRA 1 9Ee

foar
(A) &g e (B) =mre fa=x
(C) &2 IFHes (D) ©me A=
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66.

67.

68.

I'.B.C.

The first Commercial Bank set up in India was the :
(A) Bank of Madras (B) Bank of Calcutta

(C) Bank of Bombay (D) Union Bank

Consider the following events and select the correct answer from the codes

given below :

(z) Swadeshi Movement

(it) Home Rule Movement

(72z) Anti-Rowlatt Act Movement
(tv) Khilafat Movement

Codes : )

The correct chronological order is :
(A (O (@) @) @G

(B) (@) &) @) Go)

(C) @) @ (v)y @)

(D) @ (e) (w) ()

In which year Gandhji inaugurated the Civil Disobedience Movement ?

(A) 6th April, 1930 (B) 28th November, 1929

(C) 30th December, 1929 (D) 29th January, 1930

Who was the writer of the book ‘History of Civilization in

England’ (1857) ?
(A) E.H. Carr (B) R.G. Collingwood

{C) Buckle ' (D) Darwin
. 45/13/ET—III 46




66.

67.

68.

69.

I § Wew Ao o iU el o
(A) . A% A (B) & 3fE SHereha
(C) % @Atk & (D) If=a 9%

frefateg TeaTel @ whee wifwe ok AR T e wz | w9 IWow S
I a

(i) TR =T

(i) TH TG AR

(i) Uere TR Tt em<ed

(iv) - TarRa =

He : .

Hel T % :

(A) () G) G (o)

(B) @) @) @) (@)

C) G @ (v @)

M) () @) Gu)  GE)

fip = T ¥ wfaT SR STie 1 ST 2

(A) 6 e, 1930 (B) 28 Fa=R, 1929

(©) 30 femmae, 1929 (D) 29 SFeRI, 1930

Grdve 1w ® SheE (1857)) ANE TWE & o ® 4 7
(A) 3TH FR (B) IR HferTgs

(© A (D) =i
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70. Match List I with List II and select the correct answer from the codes given

below the lists :

(Resolutions of the Indian
National Congress and the

All Parties Conference)

(@)

®)

(;)

(d)
Codes :
(@)
(A) (4)
(B) (3)
) @
(D) (1)

T.B.C. : 45/13/ET—III

List I

Attainment of Swaraj by all

peaceful and legitimate means
Promotion by constitutional
means of the interest and

well-being of the people of

the Indian Empire

List II
(Sessions and Dates

of Adoption)

(1) Adopted at the Lucknow

Session in 1899

(2) Adopted at the special session in

Calcutta in September, 1920

Attainment of Dominion Status (3) Adopted at the Madras Session

in 1927

Complete National Independence (4) Adopted by the All Parties

(®)
(3)
(4)
(1)
(2)

(e)

(2)
(1)
(4)

(3)

(d)
(1)
(2)
(3)
(4)

48
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70. _qﬁlaﬁgﬁllﬂg&mﬁﬁqamqfaﬁ%ﬁﬁgmagaqamm
Wﬁﬁm:

(VRHE e i & s

T.B.C.

(@)

(b)

(e)

(d)

(A)

(B)

(C)

(D)

Tt ynfsg e fafaama

TEEl | =g H W

et 1

Td 99 T HIhY)

W.Wiﬁ@’ﬁaﬁﬂﬁﬁ

% fou @aurfas e 9 =i

eifgfa feafa =1 wifa

qof ®9 F T @@

(@)

(4)

(3)

(2)

(1)

(b)

(3)

(4)

(1)

(2)
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(e)

(2)

(1)

(4)

(3)

- {d)

(1)

(2)

(3)

(4)

49 -

gt 11

(v wd wRa # A

(1)

(2)

(3)

(4)

1899 H eETS IIfudyE (99) d uifita

faam@y 1920 & FHoswl & favm
Afgaye (I9) ¥ 9
1927%y§maﬁﬁm(€a)ﬁwﬁa

1928 H §d Ul e # U@
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71. Match List I with List II and select the correct answer from the codes given

below the lists :

(@)
b)

(e)

(d) D.K. Karve
Codes :

| (@) (b)
(A) (2) (3)
B) (2) (1)
© @ @
M @) @

List 1
M.G. Ranade

Jyotiba Phule

Pandita Ramabai

(e)
(1)
(3)
(3)
(4)

(d)
(4)

- (4)

(1)
(2)

(1)
(2)

(3)
(4)

List II
Girls School at Poona
The Indian National and Social
Conference
The Arya Mahila Samaj

Widows Home at Poona

72.  Match List I with List II and select the correct answer from the codes given

below the lists :

(a)
(b)
(c)
(d)

Codes :

(A)
(B)
(C)
(D)

T.B.C. : 45/13/ET—III

List 1

Revolt of the Bhils
Revolt of the Gujars

Kolhapur Uprising
Santhal Rebellion

(a)
(2)
(1)
(2)
(2)

()
(4)
(3)
(4)
(1)

(c)
(1)
(2)
(3)

(3)

(d)
(3)
(4)
(1)
(4)

50

(1
(2)
(3)
(4)

List II
1855-56
1817-18

1839-45
1824



71. g 1 = g 11 @ gAfeq #feg au g & A R g oz | wE sW w
Y4 HIfeT

et I

(a)
(b)
(e)
(d)

TH.S. TS
=ifqan |/

qfvgdr THETs

€. HE

T

(A)
(B)
(C)
(D)

(@)
(2)
(2)
(4)
3)

(b)
(3)
(1)
(2)
(1)

(e)
(1)
(3)
3)
(4)

(d)
(4)
(4)

(1
(2)

(D
(2)
(3)
@

g 1I

g # wsfRdal @ e

U UEE U grEifse qee

éﬂﬁﬂ%‘mm
g1 # faven e

79, w19 g I @ gAfem wifew @ g @ MR e T A § W@ oSW H
99 HIAC, , |

g 1

il &1 fase

T R

wieal fasiE

e SFad

(@)
(b)
()
(d)

he

(A)
(B)
(C)
(D)
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(2)
(1)
(2)
(2)

()
(4)
(3)
(4)
(1)

(e)
(1;

(2)

(3)
(3)

(d)
(3)
(4)
(1)
(4)

(1)
(2)
(3)
(4)

Hl

gt 11
1855-56
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73.

74.

T.B.C.

Consider the folloWing Maratha Peshwas

(z) Balaji Baji Rao

(ii) Balaji Vishwanath

(izi) Narayan Rao

(iv) Balaji Rao I

Codes :

Their correct chronological order is given below :
(A) G @) @  Gid)

(B) (i) (iii). (@) (tv)

(C) @ - @) Gv) G

(D) Gv) @ @ (17i)

Which of tbese statements about Ishwar Chandra Vidyasagar is

incorrect ?

(A) His whole life was dedicated to social reform and he represented a happy

blend of Indian and Western Cultures
(B) He fought for the uplift of women and favoured widow remarriage

(C) He never gave any financial assistance to the distressed

(D) He protested against polygamy and child marriage
: 45/13/ET—III 52



73. Tr=fatea swe tvEei ® faEr wisy
(6) @S SIS
(i) @S faveAe
(i?i) ARE TS
(fv) STEATS TS TIH
EoCal ag’r wregwy Fr=fafea o
Ay G Guvy @ (iz)
(B) @) (@) @) .(iv)
() @ @) (v) ()
(D) (iv_) (@) @ (72i)
74. Wﬂﬁm%mﬁﬁaﬁwmﬁﬂm% ?

(A) T T SHed GESEYR & W TEfda o1 oK 3 qRdE e gesnd §epfid
% = Wdih 9

(B) =13 fodii & = g faven qafdar & fog dud f&=n
(C) T=1 weft o fau=i (faufoudl) =1 onfdw wemm & &

(D) =1 TN & wgaae ad a-faae w1 oy fEm
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75.

Given below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R) :

Assertion (A) : After their occupation of Bengal, Bihar and Orissa the

T.B.C. :

English used various means to bolster their trade which

resulted in the decline of Indian Handicrafts Industry.

Reason (R) : The British monopolised the trade of Bengal through various

legislative enactments.

In the context of the above two statements which one of the following is

correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

45/13/ET—III D4



75. = & awe Ry TR, TR A HU (A) FE TN ¥ AR GW A FO R) ¢

HIT (A) :  wmd, foER 991 ST WSO YUY SHA % e S A
fafir=r odia =Y 9T 319 AR i Ureartea T, e aiom-

wmazwﬁmmmwganl

HNOT (R) : 0 A fafy= Sa o9 oM & AR H ThHIgsr e
foFr |

s @ s B w=d § fefdtan § @ S W@ ¥ 2

(A) (A) 3R (R) = && € 991 (A) =T W =re (R) ©

(B) (A) 3l (R) 2F =@t ¥ fF=7 (A) =t W&l =ren (R) & ©

(C) (A) w& % fFg (R) 7o

D) (A) Tod & fFg (R) 98 %
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